a'rllﬁ%—m%—?& SR [ Ml |

~THEMDIERZRD KO~
Let’s find prlce of spun silk thread and cloth
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Question: Longs of spun silk thread are 75tan. Longs of cloth is 43tan.
We buy them.

When 75tan and 43tan sum up to 1kan 528monme, spun
silk thread is more expensive than

cloth by 7monme per tan.

How much are they per tan?

Answer: The price of the spun silk thread is 1I5monme 5bu per tan.
The price of the cloth is 8monme 5bu per tan.

Solution: First, 75tan multiplied by 7monme is 525monme.
1528monme minus 525monme is 1003monme.
75tan plus 43tan is 118monme, and 118monme into

1003monme gives 8monme 5bu
Accordingly, you know the peace of cloth.

Explanation: This solution is multiply 75tan by 7monme, and subtract
difference from the sum total
of expenses. Take the average two prices, then the
answer is 8monme 5bu. So the price
\} of the cloth per tan is 8monme 5bu.
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It was the difference between the total amount of
spun silk thread and cloth and the price of the two,

silk and cloth respectively at one end for price per.
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oth per tan s x.
oun silk thread per tan is x+7 then.
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The price of the c
The price of the s

Accordingly: 43x+75(x+7)=1528
43x+75x+525=1528
(43+75)x=1528 —525
118x=1003
X=8.5

. The price of the cloth per tan is 8monme 5bu.
The price of the spun silk thread per tan is x+7.
So it’s 15monme 5bu.
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The value of fabric

Silk : Many caravans got it running the risk.

The spun silk thread : How to wave of it was special, it takes time and
effort.

Cloth : it was valuables because it was made with hand-woven.

The value : The spun silk thread > Silk > Cotton > Linen
Because silk was valuables, common people cannot use it.

Masters and rich people can wear it.

But Tokugawa Yoshimune who was eight generals in Edo period worn
cotton himself and promote frugality.
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| want Japanese power, as well as mathematics, so
it took time to understand the meaning of the
problem

Know problem in character format usually solve
how | had a good chance. Also, unlike the
character-not to understand and write down the

hard felt.
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